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 GEMERAL AWAREMESS |

L. Which af the fallowing s rated
the poorest region of the World 2
(1} The Middle East
5F] Hsdtm
[ Sub-Saharan Alrica
4] Tk Arderica
31 None of these

Z. Wiich of the follosdng tenms is
NOT ased in the world of coo-
norlcs S Tinance?
(L} Slcaking Fund
(2} Third World
{3} Open Door Policy
() Dealoations
(50 Privilege Motion - -

3. O ol the total popaintior of the
sorld abovl 80% of it Uves in

[ ]I Ii:'l::“.‘l:]l'lpﬁﬂ OO

(2] BRIC counirize

(4] Latin America

(4) Dr'rclum:nml;dm" [
(5] Momge n-l' thess d

4, nnn.h:fﬁ-asummﬂm‘l Yaja-

nat [RSBY) bs ascheme lunthed
by the Ministry of = i S
(1) Finanre

Bl RPuoral Development «-°
o Uomamesr
(4} Industry
= Whai s the
breviation ASEAN 7
N Association of South East
Sigres Mations
12 Aseocintlon of ' South Fast
Assiam Matone.
1 AlManes of Seuth East Asian
Mations :
{41 Allianee of South East Asian
Neighbours
51 None of these
6. Which of the following 1s the
scheme for providing electricity
canmections Lo all the roral
hiogisehold in the country 2
i1} ASHA [Z} Swadhar
3] Kuthr Jeoil, F) Deep Mala
i3] MNone of these
o My times we read about 'FRFF
i eCenend [ileraluee, Whal FPP
(57 I i 8 comeept which -

L9k Labour
af the ab-

B. Asweall

0. Which of the

1] iels us that ecchange raies
betwoen currencles are in
equilibrium erhen thedr pur-
chasing power s the same In
baoth the countries -

(2] {ells us that exchange rates
between currencics arc in
equilibrium when thelr pur-
chasing power is different in
hidh Ahee Comintiies

i3 PPP means the current Ex-

. whange Rate of a currency
against US S
B crssare Of oo inecsal-

(5] chfﬂ'bm
¢ the Human De-
?ﬂumhﬁmmnmm:

dex of social performance In a
single eompasiie ndex, 11 s an

inelicaticrn of -

i1 IIdlnp-:a.rltf reduction mile, hu-
man. resource doevelopment
rate ard the composite index.

.Ei.hf#vﬂjr education and liv-
ing standand.

3] the factlitics for rril A

ol mumaﬂmﬂmm

educational attainment

(4] GDP el s natbon and the sta-
tus of its TBalance of Trade
(5] Mare of {these

8. Whichane of the following coun- |
tries is mob mmidnmd Y I!ln:wlj'

Indun'l:rhlilhﬂlﬂwnln

(1 Suu’ﬂiﬁ&hu

[2) Moo EH Bererdl

(4] Turrley

I'ullf:wing

sl aterent) s fare correct shout

Watlonal Ruatal Employment

Guarintes Aot (NREGA] 7

o JAk NREGA Is applicable to all
rural areas af the country.

s [BFOnly constriction werk shatl
be ghven o the workers em-
plosed tndes thils At

IC) Every worke? Is-given an

amount of Rs, 2507 pér day |

for & eight holirs shifit,
(1) Onkva 2} Only B }!\
i3 OnlyC  #rOnivyA&B
iG] Al A B&C.

1L Which of the Tollowing ks WHOT

tre about farmers in Loast Die-
velaped Countries (LICs) 7

{1 The slaple crop is the chief
sovroe of food

12 Lalwair & underutilised ex-
cegrl lor planting and hamesi:
Ing scasons

[ Om il iesditionad farm, owl-
pul = plhways greater than
OO oD
Clltvators utlize anly a small
poriion of Fund

(5] None of these |

12. Which of the following organiss

tionsfagencies controbs the moa-

ctary policy of our country *

(1) SEBI

o m?w

(3] rRBl

t4) Unlon Ministry of Finanee

{5 Neone of these

13. Amartya Kumar Sen emphiste-

s that having enough to eal de

pends an onc Very criuclal ac-

tar Which of the following |s tha

factor 7 .

(1] Beciety's system of entitle:

N ment
- (2 Distribution of agricultural

(3} Low paverty rates

(4} Stracture of the family

(5 Mone of these

14, The Nutional Food For Work
scheme i now subierged with
which of the following?

(1) Pradhan Mankr Griam Sadak |
Yorjirut ;

[ Mahsvma Gandhi National
Rural Employviment Guranise
At o~

[Z] Bhazat Minman

41 Teovchiza fsras Yoficka

(5} None of these

I8, BMary i dme we resd about Fer-

Lility Rate ineconomic Hteramire,

What Is Fertillty Rate 7

i1} The tolal mumber ol chibdnen
b in a couniry in & given |
year divided by number of |
children died.

2 The mwmber of childsén Lo
fes A n average wornan during
her reproductive years . J¢

¥ The number of births in '
cauniry divided by fotal pape-
ulation in o gven year




A7

e lmlmm’“ﬂﬂllﬂ*mmﬂ
gge pronp of 15-45 vears o
& coantey divided by total
mumiber of women died dur-
L il Bkt

wil None of these.
16, [ow ia dual econcmy distin-
puished from other econamles 7
i1 is a mixtore of -
i1} Indusivial sector aad mann-
facturing sector

12 tradidonal agrioultural sector
sl A meodern industrial aec-
- S

(%) staie owrerehip of the means

of production in cooperation
al fareign organisations

(4} Industrial sector and trading
if gooda ﬂhtalinn-d through

(5 eme of these
: w:lmhed
.. Schemes are a part of -

(4 Development of Rural Econ-

camy .
(Al Developrment of Skdlled Weork-
e

i Development of Irrigation f&-
cilides in India -~

[1iOalvA (2 Only B

(3) Only A & C 4] @nly ¢

3 Aia B&EC

The seponed mnﬂtn{whkﬂmef

& 1 ¢ ook
place in Brazl

a8 12 G20

(% SAARC 14 ASEAN

i5) BRIC..

- During the recent Lrepression
mﬁimiuwthpﬁdmml

prelfemed to take lnigﬂm'jnhi
{inst=ad of lzy off. This situation

& known as !

(1) Seamomal unemplorrment

(3] Cypelical unemployrment:

(5 Disgeised wemployment

() Wolurbary unsmpliyment

ane of these

Which of the following terms is

NOT associated with the game

of Foptball?

(1) Gorner kiclke

(2 Wideout (3 Hoemen

(4} Followor (5 Full back”

£ which one of the bllowing

issues. thers basl been 8 dispte

between [RDA amgd SEBIL 2

(1 ULAP produets. -

24 Viclatiem of SEBI ghaldelines
in respect of invesdment by

b cormpanies in equitiea

21.

Development |

T T RIS W SR BB |
about disclosures to be made i

by the Companies
(4] Overlapping of the lunctions
of [RIDA and SEBI

(5] Mone of these

Z1. As per ibhe reporis published o
vArious newspapers Maharash-
tea and Gukaeat have signed an
agreement on Hnking of major
rivers of the stabe. Which of the
fallowing is a camman river be-
iween both the siaies?

pMarmada (21 Ganga

I lishna  (4) Betwa
151 Wone of these

23. We have noticed al on several
oocasions that cost of petrelevm
products Nuctuates i:tquenﬂ:."
e ]ﬁ!i'.:méﬂﬂt
tmes o
&8 may be ﬂwumﬁ
tion arising out of -
l]l ﬁu&dﬂtﬁﬂﬂ.‘mw

athom in ouLpat

k] practices ol the oil indusiry
i) o dynamics

24, h’hﬂiﬂlﬂ;ﬂﬂﬂhﬁiﬂgm
worn mvmmmpmm:r

Hi It:lltl!ﬂinlﬂilflldﬂ'i'mh&'
1.%.F. tovarious countries

i 15 ghven directly by one
country to another

(3 0t s aid with the condition |

thiat the repayment will be in
Inconvertible currency
(4} 1t s 5 pommercial loan made
availabie by various institu-
tions jointly
I5) None of these
7. Who amongst the following is the
authaor of the book ‘A Hinalayvan
Love Story'?
i Namlitha Gokhale
3 V. 3. Naipaul
13 & nita Desal
14 Laxmd Sehgnl
15 Mome-of these
28. Which of the following is the

pame of the crganisatinn creai- |

- u

T SPUR MM LT UTE IV B
scale industrial sector in oor ‘

conniry
(1} HABARD (2] SEEI
(3 SIDBE! (4] AMF

(5 Mome af these
2B, Wiho s Mandan Nileloand 7
{1-Chatmnan. Unigoe ldentiicn- |
“ {ion Authority of [ndis
12 Chalrmarn, Mdrpart At horiby
of Iriclia
(¥ Member, LHGE |
(4] Member Planning Comamis- I
|

alon
(E) Mone-of thess
80. Which of the following countries |
will Ivost the next SAAREC Suny
mmdi?
(1} Indig 2} Bhutar
(3 Mepal a1 FEl
{5 None of these
AL Which of the fallowing organisa:
tions/agencies is specillonlly sed
up to booat averall rural devel-
opment in India®
1] H_;I 2 SIoEl
JBFNABARD (4 SEBI
51 MNone of these
82, Commonweslih Games 2010 are
to be crganiged in Delhi in the

month of -

sl :
33. Which of the following cups is
" associated with the game aof

Agha Khan Cup
DCM Trophy
(3} Davis Cup
H? mw I
(5 Frvers Cup
34, Which of the [ollowing {5 & horti-

(2) Noverslser
(4) December

enltural crop?
(1) Lracd F) Jiwas
43Bajra 4) Wheat

D

3%, According to Flanning Commis
sion, the degraded soll of which
ame of the following States, pos-
&5 g thoeat to food security
and can couse serlous #Conom-
i implications (o the nation™
(1} Haryana

filUttar Pradesh

=1 Madbva Pradesh

(4] Harnatakay %) Pungoh
Which al the lollowing arganiss
tions maintalns the Fural lnfrs.
sirueture Development Fund
IRDF] ¥




v o o e —

1} mAL T-HABARD
E SIDEl 3 L
* M) Mone of thices
. Whilh of the fe]igﬂi_ng e e
trie sl e Competiim Come:
mlselon of India [CCH?
(A T s regalatory body hiay-
I oy - flad et al sl Lore.
ey Empab ekl 1o renlne:
eld Monopoiles and Restric |
tive “rracke Pridtioed AsL,
[ Its madn: olyjective is to ore-
ate a health envirenment 1n

[

eorporabe ok, -
Wil Qnly A - 42} OnbeB o
BhOnlyC.

fr5 Mone~ of tlheses
Aceording 1o KRBT which one of
Lie Folloadng & thee dgigeat ean:
cere of Lhe countryd

{1} Debe crisis in Euraps

3

: [aidoin |
U3 GO ety

1) Flacal deficit

[ Mai of thege -~ "

39 Whih of the following arg
tiona has. l'ugi_‘:rn purriched
“Snrmore’ I Sepvios e
Shas .nh:‘lg"'mmc:a in Oujarat

Inbﬁ"
‘San't ol indin
III'} f LM i
K mfne*mu? 'mesi
15 I"I[m[: of theae
4, On ‘which ane of the f‘:ﬂl-mw

AB&C! |
gkl i

i3 Anjall Bhagwat

) O P Mehra wi

19 Motbe Bf these: . 1 e
Ad. The G20 Surrmdt was organised |

I e 20 10) tn which Df'ﬂhl.'-'

following eities 7

i1} Losdon _EH' Parles

|9 Tolye ' - TharaniLa

16 None of thiese

The Sovornment of India has es

lablished o stralegic reserve of
ahenint B millkon tomnes" of which
of thie Ei:ntlu:imng comimoditics?

v mgﬂ SEHeme Is
s kol itk Teod.

ﬁr%ﬂm&“ oty
/ nl"ﬂu: h:anlth’-a
,;' 12 Cotton

a7,

i . m "

socntrhes, the United Natiens llﬂﬁ'@"ﬂ ’”"ﬁ 5'“;'%!!!‘

“nfﬂ'ﬂ'y “oumel [UNSS has tm : "\

e g P Hm 14 Hmn

:ﬁ?,fﬂ il Kovea 49, Th 170 I “EW ﬁ“ﬂ'ﬂ* .

i Surdan e My l!m:l.wﬂlmhnri 3 v v

in India 7

+1. Mithamnmed Yirds of Sang- | dwmm il

ladesh wio wias awrded Mkl ; 4} Chisanat

priee B ’wrm bicle s 5 G| E-Hilﬁ'imtﬂfﬂm. R

o b Lt 30 muu'thhmmnf

(1) vt 131 ok Wm e MEF

P Bronomist ' RE%E! il =

¥ Sooml| worker B M i

(4] Bcheritis
[ Mime Of tHeds
Bacred Camoe g el el
=1 oy
it sl
C2} Auromd Tt Moy
(o Wrran Dasal
() hasstwant Singh
Y Mmool thases |

W

A3 Wind inonpst the fallowlng s a | oy
IELraena ssl ey ki

{u <hiran Hinesai
. O il 1

1 mm :.vaﬂﬂﬂlllr of all

KIHM’I PRAKASHANPVT, LTD,

. Old Magarinzs are also avalinhle

Hmki’lnﬂ Magazines of

in KOLKATA
o T L

Fhone : 98748281

‘mfs, who have abways lacked the [i-

Wﬁ |
TR T L L T |

'glohal market: for organic (oods, the

_ENGLISH LANGUAGE _ |

Directiona (81 - 65 : Read the
following passage carefully and an-
swer the questions given below it
Certain words/plivases have been
peinted in hold to help you locate them
while answering some of the queston.

Organic farming |s elthes reéally
expensive or really cheap, depending
ot whers voul live and whether or nal
mnmﬂ:ﬂﬂﬁﬁi Mot ooy are the “nat-
nrpl” frad fertilizerd Increas-
| inghy mnﬂ'::'t.i::l by agribusiness as
castly as or costlier than their chemi-
l;:al mmtr;rpﬁrlﬁ, Lilis ]:lr_m’di'l.g}'uu aie

organic farmer requires certifica-
ﬂ-:m which is time-conswming and
r:]wmal!w [y the USA comerting io
ganic agricuiure hihhﬁttmd:r-

commercial farmers, who
'Fll:ve f&lﬁ;ﬂmmmﬂmﬂum
s for many decades, bul in

the mﬂmumluum

" .I-J I.I 04l 1 i i . ; : .m
| ; l_._-_ -.' hie pnm.d
i ' for milienmla: Hiﬁml
and natural pest control are the only
tenls available 1o most of these farm-

Mﬂmhmdmm
Tiﬁ'fl:ruﬁh

1ure, the challenges faced by

1= the LFSA versuas larmers in India in
‘mreder (o Gdapl #E"H!t}“ different in-
et mm'h ‘that the well-
ihtentiofierd vowartds or-
mmm=mm or-
ganic farmers in countries likes India,
wihil have never déne anything il
nr,g;n-fﬂ: I‘.pi-md.h;;. nl;[mgeu alile tael]
chisle crope. |
It fEsponse tosthe 526 billlon |

Indian CEntrl Govermment set up a
ational Instiiute gl Otganic Farming
i Oetober 2003, The purpose of this
institute is 1o Grimulate rules, reguia-
Liom s and cerilieadion nﬂ'm-gnulr: [arm
sodiects in conformity with Interme-
tional siandands, The Instituie has its
offices ficross-the couniry and has
appotrited certifying agencies for ar-
‘ganic farm products for the domestic
markel. The certifying agencies are
apcouniable for confirming that any
product sold with the new “india Or-
ganlie” logn is lm aceerdance wilh in-

T S T s B -

WG e B Sl el T S o 2

O I e

il F

el e



| cropped area is “organic by defaolt,”

| certified organie farms. This statisti-

| are equal 16 or more than an entire
years income. or the average small

LCTTESTIN A CTVUETEA; S0ME) [ATIC Y IR ]
in India and abroad.

Organic farmdng has been iden-
tfied as & major thrust area af the
Lotk plan of the ceniral governmeni.
e bBillien rupess hevve been allocat-
ed 1o the aforementioned National In-
siiivie of Organie Farming alone Tor
the 10th five-year plan, Despite this,
most af Indid's organkc frms aré nat
officially considersd organic. Most of
Fredlin's G e "ooganic by defalt.”
The frony and difficulty of the mew
governmental push for organic agri-
cullare s that G5% of the countns

according to & study. By this somse-
what degrading term Uivey mean that

small farmers, located mostly in the |

Eastern and North-Eastern regions of
the country, have no choice excepl Lo
farm without chemical fertilizers or
pesticides, Though this is true in many
cases, it is also true that a significant

anumber of them hawe chosen to farm
orgianically, as their lorelalhers have
done for thousands of years. Many
have seen for themselves the effects
dciamm;dmmmg«-@&tmﬂmw
loss of soll putrients, loss, of nutriton,
int food, and human diseases result-
ing from the chemicals that inevitably
geep into the water table, all the rea.
sons for the uigent demand for or-
ganie foads and farming.

India currently has only 1.428

cal discrepancy reveals that the weak
link in i e organic feconomic chaln s
certification, Under current govern-
ment pollzy, il lakes four years for a
farm to be ceriified as organle. The
cost of preparing the report 1s a flat

fre of R 5.000 and the cerlillcate |
iteell costs another Rs. 5000 While
these costs are bearable for the new
fndusirial organle greenbouses, they

frmer, df the vosts of travel and in-
spection are fnchodsd,

inthe United States anarganis

farm plan o ‘organie hamdling plan
must be submitied to a USDA -
aceredited private or stale certifica-
Lioen prodeam. The plao miust explain
all evreersl prewding and handling meih-
ods, and any materials that will be
used = in the preseni. and any luiire
plans musi be incloded as well,
Reconds (or the last five years mst
be pregenied. Land must be chemi-

cil<free for three years pricr to har-

WEEL, B E O T O F 1aTTmET TeEnnar | - -

receive the organic label for the tran-
sitional wyears. This will genecally
mean & decrease in Income - crops
ey bie lags plentifal than with con-
veniional fertillzers and pesticldes,
and yet the higher poce for organic
products won't yet be posaible. Many
farmers cannot afford the transition,
even i they want to,

One salution (o the small farm-
er's dilemma of how to both certify
and survive ks that of community cer-
tification. In community certilleation,
communitles, on & non-prodl basis,
tnke charge of the certification pro-
cess Lhemselves. They evaluate the
farmers commitment io the stewand-

ship of the sall, mdmminu[lmn'

Ingmmllun_ i

mwwn*mﬁs:mw
eal standards, While eommunity cer-
tification may be nviable solution on
the local level. It s our apinien that.
in the global marketplace. less than
exacl technical standards will never
be enough ior inday’s consumer- and,
i todays lacgely polsoned environ-
ment, it shouldn't be, elther. Further-

- more. much “soft” guldclines can cis-

ily backflre on the farmers them-
selves, a8 & system not based on facts
Eﬂ#ﬁﬂﬁﬁmmjﬂmm
pelitics, bribery, favourttism, ele

"India must find a way o hﬂﬂl

the sirict intermational organic stan- |

Mimﬂuw 1o nnmpd:ﬂ n
the international market for organic
foads- but s there a way to do it with-
out leaving small farmers out in the
eold 7 One obvious solution is for the
governmnent to subsidize these certifi-
cation fees enowugh o males it & via-
ble option for andinary farmers, not
st foe neo-arganic factory farms and
greenhouses. Banks also eould pro-
wide a more level playing field for smali
farmers. Currently, almost bank loans
are far pure crop farmers. While
many of these blg-business fnrmers
wae harmbiul chemicals and process-
s, small Tapmers feriilizing thelr soil
with recycled organic wiastes are wsa-
aliy ineligible for insurance, much less
staie sulsidies..

B1. What role does the Natlonal In- |

stitube of Orgamic Farming have

o play in the crganic farming

area?

{1} Toset standards for the im-
port of materal required for
organk: iErming within India

TS TSNS LT CTIHIEATL FRTT |
prodiucts conlarm to the in-
ternational standard for or-
ganic foods

(3 Tosugaest methods Lo farm
ers for producing the bes|
arganic products,

[} To impori the best organic
foods from international
caurntries and harrest Them
i lrdis

5 To sel up agencies e ;
Horally bog e marketing of |
Indlan arganic prod uce

. Which of the ollowing |5 possl-

bl this maet appropriate tile for

the passage 7

(1} Agribaisiness in odia i

(2] Organic Fﬂrﬂﬁng in thdia - !
.ﬂmlrnmr

irﬂrl'l:wrgarlh:l'umh'lg - A Health |

14l Smuﬂ and Marginal Farmers
18] Organie Faming In Indis asd
the US

BE. Why, according to the author, is

the term “organie by delaull” |

degrading 7

(1) As Indian farmers are adopt-
ing incorrecl methods of or-
ganie farming, thereby ren-
dering the crop uscless

(2] As the crop cultivated out of

farming Is rejected

by miost international agen-
Hes,

i3} As all the farmers in India do |
nol hawe any secess o chen- |
feal fertilizers and pesticides
to carry out Inorganic farm-
ing :

(4] As the Government has Is- |
sued a directive ta farmers
Im Tricdie v carry ol of g
Farmliag adone

(5 As 1t means Lhat the fmers
in India cenrol aiford Lo use
anything but arganic meth-
ods of Tarming

Which of the following are rea-

sona [or the increasing demand

for erparic loads and organidc

farming 7

Al Consumption of Inorganic
Iood has given rise (o humean
disenses

(B Excesubve vse of pesticides
b ca sl Bobl erosiod

IC) There hins becn a loss b sail |
muirient value of soll due to |
chermical farming




=

2) Only (A and {5l

13) Omly ICh

() Oy (8] amd ()

(3 All (Al 1B and (C) are Lrue

Why aocording to ihe-auihor, will

the irdea of community certifica-

thoat fot wark 7

M} A4 ithere may nothe enough

o onpabple in ihe commndiy i
wWark on & non-profic basis

(2} As the farmers may not be
Terthooming b prosiding in-
formation about thelr culitea-
L Practices and Thias bead
toethe-fallure-of this system

(3 As the cemification granted
throwgh this scheme will nod
b i Feentic b all

14} A certification suugthit tnthis
mianner may gve rise o vest-
ed (nterests and slso not
meet the stringent criteria
Iakd down globally

(5} Mone of thess

Which of the following s TRUE

in the contextof the passage ?

BT Tncdian Gorermaatinl. s nat
in {avour of acquiring eertlfi-
cation o m&ghbml stan-

- dards

(B The process ufmﬂhlﬂun'
b quiie time- eomeuping and.

T,

) The farmer dees pod earm
much during the thres -four
vemr= thiat it takes o get cor
tifestion

(1] by [A)and (C]

1) Omty 1B}

i3} Only (Bland (C],

{4) Only (Ajand B

(5] Aﬂlﬁliﬂinﬂiﬂl

What sceording tothe awihor, s

o major probiem with Organic

Farming in India?

(1] Despite thetr Arganic naiure
most farms inindia ane not

perceived as argatic berause |

al mere paperwark

(2] mm:hﬂnﬂpﬂﬂ
atiention Lo orfanie ferming | |
in Indis therehy promoting |

inorganic farming to a great
e Lenid

(3 Only recycled organic waste
I available to Indian farners
lor Ehe purpose of organic
Farming

Ml indian farmers are accus-

tomeed io the usage-of clhem- |
icala- and thekr farms have |

nirw sbart &d losing their fer-
tlity

* Imchia &re averse to thelidea
of organie frmding as it is not
profiiable

58. Which of the following, accard-
ing to the author arg factors that.
can help in acquiring organic
fam:lin,g certification in India 7
[Fl Fra'ild.u:.gmﬁrtba.n.klnﬂ.nam_

‘small -a,nﬁm
B Reducing the quantum of
lmn&hhﬁpmddﬁﬂhpm
crop farmers
{C) Levrering the cost of certifl-
 cation
(1] Crnly LA}
12} Oniy (€]
131 Ondy (Al and (C]
1l Drkl_‘u"lﬂ’.] and (C]
IH.!JIW Iﬂ]’lﬂdlﬂl L
Directl -fjﬂ;lrr Choose.
ot '.El'ﬂil‘p of wards whish s
mmmmwmmm,'
igronap of words printed in bold as geed
J:'I!'Lﬂlﬂm

59. ARDUOTS P e |
M g 2
;Hﬁrm_ dm:uh -]

s o m o
:-E.ﬂ-\.....- nZ l‘}ﬁ'ﬂm )

61. DEGRADING
AN qmmdng AW murdmizing,
(2 fowering (4] demeaning

15 wiying

carrect P If the sentenot s oormect &8

'- . (i} are kept outned:

'.Eﬁiéﬁmrhgtd
Directions (63 - 65) : Ch-::-::a:i
the word /group of words which is |

maost nwm:!t: in meaning to the |
nﬁrd,.l‘ me-dspmueﬂ in Bold

am e Hmp-ﬂﬂaagc

B84
m‘-"‘ﬂﬂp-;um 2] negative
- {8 deadly [4) practical
i5) riddimentary
84, INEVITABLY
(1) avoirlably  [2) mostly
|3 certainly (4] expectedly
[5) predictably
68, ACCORDANCE
(i) dreision
(3} tune.
(55} ponflict

(2) quarrel
4] enmity

the phrases (1], (2), [8kand 14) giéen
below each sentence shouldroplace |
the wordyphrase prinied in bold in
the sendence Lo make b gramimatically

it s given anid no correction is e
quired, mark{3) as the snswer. |
B6. Since Riva did aot want i be
I:Eal.urbu:d while 41,q|;§.3ang, she
it the phene off hooks.
(1} off the hook
(2} ol hookkg
() fow the hook
(ab} ol Fanals
(51 No correction mecpuires]
Since Shilja was ovestyudened
wiih wark Deepa ﬂetldﬂl:l L
gawe her hand. i
o 1y giving handee 07080 L5
- |3 giving her handiul
=14 gave her hiands
51 Mo correction regulred
88. Despite having passed out from
schiool over ten yea: . Dack, most
m&mhm?mw

mfuh&pmgwuﬂr .
| 1M keeptouched el
(31 mmwm

{5) Mo red
g8 _mmmm

Tactthnt horactlomsioukl have
terrible reperoussions, !
(1) s weld awgere ol

{2) has aware: for

(3)1s aware totr

4]t in awsireness with

[5) Mo eorrection required
Shashi tried 88 hard he would
b win the race but falled (o do
B

(1) s bemwed 5 mey boe ol

(2] as hard a8 e could

{3 -Hatrdly do a8

143 50 hard that conld
"ﬁ]ﬂﬁ'éﬁrﬁniﬁu‘nrpqumd
Directd L{TI TH) ¢ [noeach

ol the fﬂffldwln,g qm-sa’tiunu e oot s
are given of which two waords are most
nearly the same or opposite [n mean

ing. Find the two words which are most
nl_-éLrl'_urihr sume O oppoaile o mean- |
I:I'L_E The mumkdr of 1,h: correr] [=iter i
comblnation s your Rrswer.

TL A Disciple " (B Studer |
(€] Academy D) Martyr
la-c 2c-0
MB-C MB-D

ifhA-B




(1 Walued e Faorlom
() Cc—m 2 A-B
R BMIB-C
(% A-D IR
73. W Ordinary | [5) Vague
(G Custam . (D) Excepiicaal
a-8 i B-C .
BCc-p M A-D {
FB-D |
T4, 14 Damaged I
B Hurriesd '
1) Condempsel
(D) Measuresd
(1A-B @.C- D
M B-D (4. Bn G
(5 A= D

78. (Al Resnote (B} Troubled

() B-C
i38-D
iBA-C
m[w-ﬁ-

thoee fiilioned g sk semitonees (A, ﬂ!}

[0, L&mmmmm

| wforma mﬂ;ﬁuﬁwﬂipﬂﬂm |

| answer the guesifons yﬂm below

| e,

(A A gl [ramework is Lhus,
new avallable for promoting |
energy »fiiclency in all sec- |

o larE of U etanemy.,

E iy LI‘TIﬁ..nﬂ MMASLTEE
at wariols soctors of our
couminy.

(D Thils frawmewroe IS mothing ot
ithe Enerpy Conservation Act
2001, the success of which |
greatly depends on the peo-
ple whio take the lead in sup-
porting this programme.

IE] This use ol {sazil Toels has
resulbed kn emission of & huge
guantity of carbon dicxide
CoiLs [y [ SETROES CTTV OILTSe-
tal damage.
not only reduoce the need o

! create new capacity reguir

| ing high investment, biit also

resualt iy sobst sevilad eenvieon-
mental benefits,

1A B
g @)D
(5 '

. Which of the following should be

the FIRST sentence aller rear-
rangerment 7

the FOURTHE scnicnce after re-

arrangement ?

(I E (2 F

(5 A 4 D

=B

Which ol the iollowing shoulkd be
the BECOND senience afier re-
arrangement T

(1 B A e

@30 .i{iﬂ

um[ll,*ia:lmd l.thn.b-l:l-md
toddiérs have {2/ & high sugar
content and are (3] excesabe
awedt [4)) Nocrrer {5,
“The lorelgn company has ao (ar
dleciined ta 1)/ direcily comment
o the Indian company’s mave,
120/ which analysts say is a sign
the company wanling to [3)/
Cighat forits presenos i the mar-
let. (41 Mo errar (8
After forty years of indng tofl)/
dd winy asbestos caus-
s cance (2),) rescarchers heve
now finally (3)/ unravelled the
mystery. (4] No error (5)
Apopﬂydeﬂumlw shoot
dead by four unidentified jack-
et-clad men {2}/ while taking n
modarming walk 131 iva pask. (4)/
Mo arror (5

(10 reality-based pop berd
bt 8 20 going an-iic el
swing, (317 with namwergus on-
tries came in. {3]/ Mo emor (5]
86. To curbing the spreead wal vio-
lenee, (117 authorities beought
vrder carlfew (217 moreaccas i

L Btaie, where [3}) Three
youths were kfifed (457 Mooer
ror |9

BT, Demanid [or dibsel cars, o hich

has (1)) been an tee e Tae th
st feow wenes, (210 muy dip o
the governuneni bs increasiog he
price 13 af the fuel, breiaging it
closer to that of petrol, (41 No
erriar (5]

B8, Not onlywas the aciress ouer
the mosa (110 a8 winning an
‘award: buot was [2) aloo despty
tauched iy thee suppart (31 st
g0t from Lhe imlumr {47 Ny
erros {51

' Hrﬂmmmmm-:-n o ram

fpagiingg (1], an g8t ablais s
shopa (2)/ resuliing tn injuric
“to thirty people (31 fneloding
women and ehildren. (4] M
=rrar [}

90, Hectic schedules can (1)) tak
a toll on anybody s (27 e
!luﬂ['l‘,lhi-;l'l' saikie b 1) a9 i
holiday o soma cxgiie boeation
(4] No srror (5]

m (91 = ) 3 imoik

M-ngﬂ thers are blank

E =
/| m@ma;mm math, (e ward

A has beer aumbeted
are printed helow th

‘are suggesied, ome of whish lite th
blaak approgeiately. Flnd oo Lhe sy

- propriste word In sach oo

Trdia has Berome, (0 oie e
Ing peawer pardly termna. Hre (ol Ry

| eat mconomy 10 the world, fiediis e

momic (Bl simee 1980 hHes bee
among the (98] rapid. Althoo gh frdi
managed [t ane incplenl s i
early 1900g. 1t avoldad ihe coiasuopt
ic losse= (93). Whilz many [94) 1hs
exposing Indla s eeonoimy 1o @hah
eomspetidon eoadd pevrs] Indla's e
nomic (851, it hoe mthor reveale
strengths and often uncrpsets
sirengihs in new areaz ne olane
would have (B6) of. India 1= Do
ingly taking 1ts (87 nn the global sl
andin indernationeh lormes ge o 1)
CERLUrY SupErar, Thes gensatim
of poliibcians ard podiey makoss @)
have becn [98) of leeding "nidis
where it ie oday cprs bie Tosd ok by (8
of tho translormstion. EI|II wchl

s S



menis ereate new (L0, two of which
are —improving service delivery, par-
tcularly to the poar, theough freater
aceoa bty ancd expanding the ben-
efits of rapid growth-across seotors,
refions. and peaple,

81. (1] decline (21 policy
() erizis (4] dreaiy
15 growth
I B2 (1] seweral (2] very
i3} most i mch
(5] an
g3, 11} emnd i2) detericeation
(3 thus {41 together
5 elsewhere
B4, |1} asked {2] feared
13 think {4} =poke
i3] believe
I 88, (1] growih 2] space 3
t 13 gadn [4] weakneas
" (Shvoid
-, B8, (1] quesiSemer]
(2} dreamed '
" 3 arranged M) plan
[} wanted
B7. (1) matter 2] place
() Lt (4] peneration
5} mark
98. (1} part (2] {sgues
(Bhumans (4] figment’
(54 thonmght
88, (1) worrled {2} angry
12 hoeeonaredl
=] distimguished
I {51 rrowd
| 1@ L1} igoes ilithes
h 2] evaluations
(3} e hallenges
14} compartsons
(5] dangers

|QUANTITATIVE APTITUDE

Directions [101 - 105] : What
willl come in placeof e guestion maric
(7 n the F-:llflnwnng-qul:a-lmnﬂ" :

100,40, 7)% 2 10,343 = 10. 7V < [0.495)2
i1 3 2 6
&7 ) 4

i TRone of these 5~
I.Wlfﬁ'ﬁ+2l +5=Jpx8

reas 12 Jas
1M 52.5 14 2.5
] MNome of these
| 1O, 50k 125 + 05+ 165 =T+
49.5
(2) 110
(4) 156

(5} Mone of these

| ' 104G
‘ 5} 120

104, (7 - 17 =528
11 & 25 4
3 9 [41 7
|54 Mone of these

108, 32.5 = 26% of 450 + 3 -
T45.5 =17
(1) 642 2] 522
{3 632 [4] 612

I5) Bone af these

Directions {106 - L14) § Whit
approximate value will come in plaee
of the questian mark {7V in the foflow-

ing questions 7 [you are nol expected
Lo caleulate the exact value]

3.4 o
LA P
R

2} 4
H 15

11 2
(3 12

7
'ﬁlﬁmﬂqlﬁ.ﬂﬂﬁ HBE-:.JJ‘-?

ﬁ% b

ﬁﬂl!ﬁdgmi 18.09% of 801

|_:La 580 A.Ilj‘ 470

13 400 (4] B40

15 420 ;

999,94 - 3001.01 - 509.00 =
? - 499991
{1 s (2) 9500

mlﬂsﬁcﬁ

) 480 {2 550
B ¥ 850
* 15 200,

Directlons (111~ 118) : What
will come= in place of the question mark
[?)in the number series 7
_L;:l 12 08 161 213 252 M@

1 264 (2278

[ 2B 2601

3] Mone dthfﬁ'

‘HIE. T 13- . 24 40 a1 [y
87 [2) B2
(3] 56 = 93

3] Nene of these

ilﬁﬁwm

2] 238
{4) 206
Eﬁl Wr:rmz of thess
' :#:— 19 35 & @
i) 10'? 2 113
1) 104 e LS
3 Wone of thess
#‘Tﬁ-ﬂ 423 BE5 171 179
{1} 118 () LO7T
2) 98 (4] 82

ﬁﬂnmﬂﬁm "‘-'E}

118. 1. % - Juzos'? - 58
I [l™® x (4200 - 282 = 250
117. 1. 2x s+ 3y =19
i If. Te—dy=23
1181, 2% + 12 = Tx

. &t
‘?Auﬂ ﬂ%ﬁ& x ﬁﬂﬁx 100.01

| 124.

Directiond (116 - 120) © In the
E:linhhgqmﬂmb.mqu!thﬂmm
pered 1 and 1 are given, You heawe to
salve bioth the equations apd

Give angwer (1] if x>

Glve answer (2] 1fxx u

Clve answer (3 1Tx <y

Give answer (1) [T x< y

Give answer (5j f x =

ar the relationship cannot be
et alyllsbhed

Ii. ¥* + 30 =11y

18 1. Ji16sJx+18 = 4121
H. i#-640 =321

-ﬁ-M;Z-sn
o

18 % i
o Ju i
121. A man sold an e for Bs. §.750
at & loss ﬂ!ﬂﬂm il h::r
ithe seliing prics of same e
he sells it at a profit of 15% 7
{1) Rs. 10,530
12) Ks.9.950 H Re, 10,930
(1) Ra.11940
{%) None of these
A23. The sum of the cdreumierence
of 4 circle and the perimeter of
A reciangdle is 133 cm. The area
of the rectangle 1= 112 5. cm
and hreadth of the rectangle is
B cm. What is the area of the
aticle 7 -
(1) 818 sq cm.
(2} 540 sg. em.
(3} 306 64, cm.
{4} Cannot be deternyinead
{5 Mone of these
. The cost of 5 kg of apple is eqgual
to the cost of 12 kgs af riee. The
cosl of 3 kg of flour Is equal o
orve B of fee, The cost of one
kg of Mowr is Fs. 17.50. Whai
i= thotowal cost of 3 ke of appls, I
2 kg of rice and 4 kg of flour
ingether 7
(] Rs. 543 (2} Ra. 527
[A)-R& 563 M) BE& 553
(5l None of these
Thirty Ave perceni of 740 1s 34
mare than a number. What |s
itwo-ifth of the number 7

120. I




(3 180 (4 120

{2} Mome of these

125, The ralio between the angles of
a quadrilatersd s & 304 5,
Thesmallest angle of a wiangle |
s one-fourth the largest angle of |
the gquadrilateral. Largest angle
of the triangle 15 10° more than
second largest angle of the Lri-
gngle. What iz the second larg-
esd angie of the triangle ?
(1) 80° 12 Br
=3 o
4] Cannnt be determined
51 None of these

EZE. A brain eovered a distanee of

1235 km In 19 hours. Also, the

the questions that follow !

Number of Clerks and Offf cers recruited [in thovssnds) by fve different

average spocd of a car is four-
ffeh; th-: avernge apeed :;d'“wﬁ
the car pover in 32 hours 7 |
hn l!ﬂ 1144 km

7 r!npcctlr-n Wh.nt will hl;"
Meera's age after B years 7
1) 18 years  (2) 24 yenrs

3423 i 1) iﬁm

1240 ke il |

. A bag comtains 7 md balls, 4
green balls and § vellow balls,
| What s the probability that 3

Bl drawn at random are elther
“green or wollow F 0
1

i} ==

140 "“'

M ogep

151 MNone of these

Six boys or four TELEE Cad Corm-
ﬂ:ﬁdpltr‘.‘fﬂf'.ﬂ&ﬂiln Ht;ln;ru
l In how many davs will 3 boys

aiu & -

I M'r

and 10 men vogether complete
thnmt]nlﬁt;tf‘wfm‘lﬁ

(s 12 &

1z -

) Cannot be determined
5 None af these

banks durlog six diffe ront yoars

Yoar A B C D : 4

Clesk | Offices | Cleak | Offices| Cledk | Officer | Cleak | Officer | Clerk Oificer
200442 | 16 |88] 22| 53] 38 |do] 56 |77] 60
P005|532 (37 |58 | 40 | 69 | 40 | 70| S8 |88 44|
2006|331 39 49| 26| 64 )| 46 |95 78 |98] 70 |
(2007|567 [ 4.1 58] 861 761 87 | 88| 6.4 [11.5] 98 | |
2008|695 | 3.8 | 6.8 | 6.7 | 5.8 | G4 |11.7| 9.8 |14.8] “'H
2008| 7.2 | =5 Ell'rl; 5.1 68 | 55 | 1046] 85 |15.49] 10.7
131, Inwhich bank the tofal samber Directions (136 - 140]  Siwdy

of Officersand Clerks recruited | the Tollowing Pie-chan and the tablk

together bn the year 2008 is sec- | given beside € carelally W0 answer

undh]_ghl_':g[? these quesiions.

(I E {2 C Percentage wise Distribution of

8. 4 A lecturors in 8ly Different Subjecis

A in a University

;'nfﬂh-lmmmdud

REL
-g‘hﬁﬁmmc year 20086 7
() 314
D

{3 18738
4 1811

|?

(3 Only E
4} Only Cand T
5} None of these
138, Totalnumber of Offlcars recruil-
&d by all the banks (ogether in
thae year 2004 was approximate-
Yy whai percentage of the fotal
aumber of Clerks pecruited by
bank B i the year 2008 and
2008 1 er ?
[1':| Illﬂ (2] 77
(3 93 * @)y
(2] 502 ;

I Visil s as- 3

Total numaber of Lecturers : 1600

Physics
Zoology

138, Tokal nuamber of lectarérs [holth
miale ared female) in Hindi is ap-

proximately what percent of the

iolal number af lemale leclheners
in Mathematics and Chemising

wol ond -] ) sl

iogether 7

[1] S8 i2) 43
5] 47 i Ol
5] 40

L37. What (s the difference between
the tolal mmamber of lecturers

[bdih male and female) In Zoodo
gy and the wotal number of miale
lecturers in Chemistey and Ed-

ucation togedher ¥
(1) 192 (2} .82

|6 wiww kianprakashan.com I\




e mna— - W m e e

(GF Maomeof these

138. What I=-the difference between
e mamber - af female becturers:
in Zoology and the nuamber of

mate lecturers i Hindi 7
(1) 156 (2) 160
(S5 120 (4] B3

(5 Moneol these

What is the total number ol malk

Iectarers im the university 7

(L) G565 (@) T2

[ F1E (4] 653

(5} None of these

140. What s the respective ratio be-
tween the numtier of female lec-
turers in Physies and (he nom-
ber of male lecturers in Mathe-
matics ¥ _
(5 4a (2} 2:8
Ba T My 5:3
{5 Mone of these
DMrections (141 = 1408} : Study

| the following graph and answer the |

questions that follow,
Number of National and Interna-
tlomal fights (In hundreds) ean-
celled in six different years
MR Matonal fights
] Internaiional Hehts

R TR

CEERF R TN T e e R

=
ol

b

Wumber of flights (in huadreds)
o

B .k & m

2

=5 §
Toars

141. What |s the approximate aver-
age number of national flights
eamcelied over all the years. 7

e "] =~
= = =
= = =
= | =] (=5 ]

(1) 780 [2) B&7
() 528 (4} 824
(5) 785

142, Total number of international

flights cancelled [n the years

2006 and 2007 together |5 ap-
proximately what pereentage of
intermational Mights cancelled in
the veara 2003, 2004 and 2008
together 7

- pmp——w- -

lﬂlﬂﬁ
(3 20

i i

TLAS, What s thie difference between

theetotal number of national

flights and the total rumber af

international fights cancelled

over all the years 7

(1) 50O (2} 250

@ 70 {4} 450

(3 Nane of these

In which year s the total mum-

her of fHghts fxoth Natonal and

nternational] cancelled the sec-

onid bowest 7

(1) 2003 (&) 2004

13) 2008 (4] 2007

(3) Mone of thess

What |5 the respective ratio be-

al Mighis eancelled in the year

2007 and the total number of

national Nights cancelled in the

ﬂmmmmw?
a7 I Eyers

@ ag:o @3l

(5} None of theae

Directions (148 = 150) : Study
the following information carefully to
answer Lhe guestions thal fokbow :

In & tourmament. atotal number
of 400 players have participated in five
different sparts, viz, badminton, hock-

]Elw'nl.mﬂlﬂ ﬂiﬂl:qtﬂm:lhm&ﬂﬂ
H! percent of the total plavers have
participated in Badminton. Twe-
of the wotal players have pﬂﬂ]ﬂhuﬂnﬂ

EHI

145,

T | mhockey, Ep-:mmtn{r.h:mtu]plajr—

ers have participated n Laon tannis.

26 pereent of the total players have

participated in cricket, Remaining

phpﬂﬂhmparﬂ-d;mlmjhlhﬂuhaﬂ.

Omne-fourth of the hockey players are

females, 20 per cent of badminten

players are male, Half the plinsers who
have participated in lawn tennis are
males, There are 45 female cricket
plavers, No female player has p!&rl.'im
pated In baseball,

146, Number of female players par-
ticipating in hadminton is ap-
proximately whai percentage of
the numberof plavers partcipat-
tng tn basehall 7
(1] 72 2) 76
{3 80 (4) 95
(5] 86

147. What 1a the dilfrences lsivwern
the number of male plyyers par-
tickpating in hockey and the rom-
ber of femals plavers participat-
ing in L wennis 7

| —g =

{31 IDfE 4] 108
8] Mone of thess

!HI. I due tocertain réason cricket
garne was: diopped and all Lhe
cricket players leff the touma-
ment, then what would be e
total number of male players in
the Larmametsl ?
[1] 200 i 210
3 150 4} 220
[51 None of these

146 What is the respecitee ratio be-
tween thie number of male play-
ers participating in Badminlan
n,:_-.u:! the rumber of fermale play-
ers participating in hockey 7
1] 311 2 310
13 6:11 (4 116
i3] None of these

150. What is the Lotal number of fe-
males players participating in the
tourTiament P

1) 130 2 120
{3) 145 {4) 158
(5] Nane of these

[ REASONING ABILITY

181, Towmn © is towards the Saowth of
fevarry B ane fowm A §s toward the
Hm-thd'mwnc In which of the

(4] Cannot be determinmd
(5] Wiest

162. How many such pairs of lketiers
are thers In the word MARGING,
each of which has as many hei-
ters between them in the word
lin bath forward and backward
dirsctions] 24 they have belwesn
e by the Enagliah alphabetical
series 7
(1) Nome [2) Ome
(3 Taro (4] Thres
(5 More than three

LEGE,
et ghid sword wdth the third,
fourth. elighthand the ninth ket
ters of the ward "CENTURIES'.
which would be the second bet-
ter of the word from the lefe? 1f
more than one swch word can
be formed, give 'A’ a8 the an-
swer, I no such word can be
fermed, ghve & as vour answer,
(1] A 2} M
(3T &) E
(Sh &

if it is possible to make anly one




LE4. The pasition of how many alpha-
beis will remaln unchanged i
earh of the alphabets in word
PRODUCTS s arranged inalpha-
betical erder from left to right 7
(1) Nowe 12) Qae
i3) Two {4] Three
(5] Maore than three

188, Which af the following repre-
senis the correct relatinship as
indicated in the given figure 7
(Mot necessarily in the glven se-

h‘nﬂ*!f‘hulﬂn‘
lIH
[=d H-II
5] None of these
III,.FAHIM'I.II: following fve are

!mduh

allke in & certaln way and henee: |
farm a group. Which one doss

mhhn;hthupﬁnp?

(1) Puper 2} Weal

i3 Cotton, mm

(5] Plasiic
188, Solidiers’ are related (o' Army” in |
- the same way as Players' are

related 1o
(1) Garme
(2} Toumament
() Sports
(4) Captain
(5) Team
154, Pﬁmmnmaphnmﬂphﬂ-lﬂlm i
uld;"hﬂnu-thar‘nunlrch.ﬂdh
my [ather's only son™. Whoseé
mummw
{1l Brother's (2 His owm b
|3 Couslon's 14} Falher's
(5] Nephew
180, What will come in place of ques-
tian (7) mark in the following se-
ries 7
BC EF L MO
(1) 8T 12r TU
(3 uv (4 ar
(5) None of thess
Directions (161 -185]) : Study
the following informiation cacefully and

answer Lhe given questions.

In an intermational meéel, repre-
gsentatives, AB, C, D E, F, G and H

Adand. Frances, Holland, Austra, LS.,
Spaln, Indlaand Cermany [nod neces-
sarily in the same order) sit around a
clrcular table facing the centre, A wha
represents Germany sits third (o the
Ieft of B Theone who is from [ndia

- sits Lo the Immediate rght of A. D whe
is from Holland siis second iothe rght
of B. Bisnot an immediate neighbour
of E. Cwha |5 from Spain sits exactly

from Franee sits second to the left of

H whio is from Thailand,

161 How many people sit befween A
and representative from Austria
when counted in clockwise di-
rection 7
(1] None
131 Two

12} One

. M4y Three
{H}M”u

: | 162 Whiﬂ}ﬂ"lhgfﬂhwmm-

regarding representutive F 2
i1} F is the represspiative of

:;irmmmmmm-ul

(4] Emwmﬂmr@tﬂfﬁ'
| (B Mone ks tnas
182 Tn which of the [ollowing pairs
is the representative from the

&unthnmdmtqr'?
11} India - ~Thatland
2] Ausiria - us.
{al*rh_uﬂmﬂ Halland
14} Spain - Germseny
I5) U.S, = Spain
184. What is lhe pasition of B with
respert 1o the position of repre-
geptative from the U5, 7
(1} °Third to the left
{2) Fourth to the right
(3) Fourth to the left
i4] Second to the right
{5) Second to the left :
168, Which of the following pairs rep-

Bowirs'of the representalive fraim

Holland 7

(R e e 2] BE
{3y AH (41 HB
18} GE

from e{ght different countries viz. Thal- |

in_the middle of people representing |
LU.5. and India.G, the mpresemntative |

the represéentative from Thal- |

first country sitting to the imme- |
diate 1N of the repressntative |

resents the immediate nelgh--

nl:m [ anel mnduﬂiun 11 Follow.

1868, Thé representative of which of |
the following countrics i seatcd |
second to the beft of Indian rep- |

reseniative 7
fliThatland 12) U5
31 France 14 S pair

15] None of these

167, The representative of which of |
the folowing countries sits -
I.L‘U}I'Lnﬂilmlﬂﬂleﬂfﬂ'lz TEprE-
" ssntatives Iooaon Thalland and

Frameoe "

1§} Fallamnd [2) Avstria
| () Germany (4] U.S.

(5 Mone ol these

Direction (1688 - 170) : Kead the
following informution /statement cane-
fully and answer the guesticns,
j.ﬂr"ﬂ-"hll:hul the following expres. |
sions will be true o the given |
expresslon 'H 2 G >H s F is
definitely true ? .
(HFzK ‘MH=<HK
HEe<G ' [ql H“.EH
(51 None of these

ﬁmdmr@msﬁw
i}mnﬂ.ll.h:::prnithn AcD

be definitely true 7
MAzB=C<D
{Ha>B=CzD

A A<B=CsxsD

Hlas>B<C=esD

15 None of these
170 [n which of the folowing expres:

slons docs the expression

ﬁl:ﬂiﬂ-ﬂﬂﬂ.kﬂlﬂuut?
qUM=Psg-R
a}n.f-q:g:}.i

H:-F;ﬂu,ﬁ
14 Jh-; P‘ruihl

- -!'..

ra

H-:.fl ~178) : In.cach
Gl : ._f a :ﬁﬂ’; ven three
 statements foll tEl'"hl'Cl oanclu
a.l-:mhn e In'm:rll You have 1o

take the three given slatements (o be
true even il they seam 1o be al vari-
ance framearmmenky kevown facts and |
then decide which of the given con- |
cluslons logically Follosws fnomthe giv-
eni statements disregarding common-
Iv knasm Facls,

Glve answer (1] if only comnciu
shan | follows.

Give answer (2] if only conclu-
slon [Fiollons,

Give answer (3) If either con-
clusbon I or conclusion (I folloys.

Give answer (4) if neither con-
cluskon | nor conchesion [ follows:

Give anawer (5] If hoth conclu-




All typhoons are cyclones.
All winds are typhoons.
All donds are winds.
Conclusions

I. All typhoons are clouds.

| B B

| 173,

1. Al eleuds are eyelones.

Sratements

Some [loppies ame kevboards,
All kevborrds pre speakers,
All speskers are monliors,
Conclisions |

I, Seane monilors are oppkes.
1. -All keylboards are manitons
173. Statements

Some keys are locks,

Some locks are doors. 3
All doors are windows, '
Conclusions 1

. Some keys are doors.

1. Some windows are locks.

| 17, Statements :

All islands are pouniries.

Al continents are islands.

All plarets are countri=s.

Conelusions :

[ Some continents are not
e e,

11, N planet is & continent.

175. Statements:
All hmmm
Mo scocteris &
Sammmmfﬁ.
Conchosions

Mo bus iz A tr:'dn- J

I[. Spme jeeps are scooters.

nuestion below 3 statement Is glven
alicrni] by oo Coivirees. of aetion fur-
bered [ and 1. A course'af action ts a
practicable and feasible step or ad-
ministrathee declsion to hf: taken I'ul'
follow-up, improvement, or further
action in regard to the problem., poli-
cy ete. On the basia of the informa-
tion ghven in the statement, wou have
o assinmie everyihing in the statement
to be true, and declde which of the
suggested courses bl action loglcally
fesllowis) for pursuing.

Glwe answer [1] ifonky § folloos.

Glve answer (2] H onby 1 follones.

Gilwve: answer (3] if eltber 1 or 11

| Teillewes,
Glwe answer [4) Il nelther | nor
I follors
Cive answer [5) if both 1 and 11
| follomw,

| Jlll_r ‘

Directions (176 - 1B0) : In esch

WSS WS W TE—

statiktics, number of thinos killed
by Hg:mwaﬂ much more tharn
the number of rhinos killed by
pﬂ-aﬂ'bemjnawﬂl:ﬂi:l'r. sancluary
Courses of action :
1. Smmﬂnﬂmﬂwum
framerd in order to punish the
poachers,
As done in some SancCtuar-
fen, ihe areas where tgers
buand and the areas with dom-
tnaEmt rivino poplation shousd
beartificially separated.
177. Statement : A mid- alrcollision |
_ Was narrowly avoided when pi-
; "Hﬂfcﬂiﬂﬂﬂw.akﬂﬂﬁﬂmﬂlﬂ‘l
nH I;HI: #n' Lrﬂr.' controller’s in-

dm#&wm

IL.

__mm:lmdtg'mﬂﬂngﬂ'n:ﬁ'ﬂr
censes,

11 “'Eﬂahihtgdﬂfnrl['&ﬂic:ﬁli-

..mal;ln-rdu-tum:-ﬁmm
incidenis in future.

178. Statement : Oil spill from the

mmﬂm&h bigaest

ofl companies has sewerely al-

mﬁm hwm

JJ'I !

dt#’-lﬁtsnﬂ}mumatn the

shill 48 mady marine animals
in the area as possible tosafl-
g habitats,

179, Btﬂ‘nm:nl: & h‘[an;.t private
th.gﬁla have been reportédly
denying admlssion Lo students
i‘mmbu-url’amﬂltswl'ule prefer-

mesik
- Courses of action S

L. Poorstudents should been-
cousaged 1o take admissions
-unlg- in Governmenti run
ﬂﬂﬂ}ﬂh whiere such diseriom-
ination does not exist.
The gowernment should en-
force a cerfaln perceniage of
eepate for students fram poor
[amilies in every school.

i1.

reprt

Jected the marine i in a large |

ririg those with sound firandal
background regardiess of their

um.sﬂmﬁﬁemm'

Ta;LTI.—.uﬁ!.u has Deen rising sig-
. niffeantly Ip the cliy since the
last i'-c'wml:lrll:l'l:-

Courses, of action :

I, The municipal ::u|:|‘|.|:|:1'l|.|r.ﬁr
should take immediate sieps
o diestroy the breeding plac-
es of mosquitoes and m-
prove hygiene in the area
A campalgn Lo educate peo-
ple abwotid e Says lo prevent
the disease shonld Be star
ed using local media and so-
cial warkers.

DHrections (1B1-1806) ¢ in cach
| question helow is given A statement
followed by two assumplions num-
‘bered Tand 1T An dssurription [s some-

thing supposed or Laken [or granted.
mmfﬂdﬂ'ﬁiﬁ!ﬂnﬁﬂiﬂmntm
thie following assumptlons and decids
‘which nl"ﬂa:anumpmﬁ bmplicit
hﬁw o

answer ﬂh‘llfﬂﬂhm:-
ton1isimplicit, e

Mml}ﬂ'ﬁ’mﬁ"ﬂ.ﬁuump
tion I1 is Implicit,

Give anwwer (3) I efther As-
sumption 1 or Assumption 1 is impHc-
7%

Give answer (4) If neither As-
unmplLﬂu I nor Assiimpiion U is bm-

1. Alithe smllmla-enmlled with
the unbwersity hayie access o
internet at o,

Maosd of the students refermed
to the results dispiayed on
bath the intetnet ds well as
the notice hoards cardier

I

182 Statément : [reorder Lo replen-
ish thie mutrients in the soil. it s
imfporiant te grow different
types of crops every altermate
seapor,

Asiumptions :

I. A crop can never be Srown
for the second time in the
same ficld.

1L
in the suCcEssive SEas0n, mo
agtitlenal nuirdenis such as
fertillzers are required io he
siclekedd Lo the soil.

U a different crop s groWTY |




183. Statement : If farmers want (o

fmprove thelr yield, they musi

use arganic fertilizers in place of

“chemical fertilizers.

Assurmptions :

I. Chemical lerfilizers have cer-
tain il effects on health.
Chemical fertilzers do ned
produce as mech yield as the
arganic fertilizess.

184, Starements © Store catables in
the deep freeze In order to pre-
serve these for a long time.
Assumptions
[. Food malerial remains eat-

able even afier deep freezing
for a long time.

It is not possible to store any
eatable a1 poam temperature

even for lﬂwmﬂ'_

time.

lﬂm a Ima.ﬂngﬁnn.;

derided to open a library

laining books and newspapers

of all major publishers in & re-
miote village,

Assumptions :

1. Al other nearby villages al-

reachy have simikar Whraries,

Il. ‘There is adequate number of

Hicrate people in the village.
Directions (186-188) : Below in
EACh (puestion AT ghen wo slataments
i) and (Bl These statements may be
clther independent causes or may be
eifecis of independenl causes ar a
common cause, One of theae siaie-
ments may be the effect of the other
| statement. Read both the stalements
and decide which of the follpwing an-
awer cholce correctly ﬁﬂﬂg‘.ﬂ-ﬂm re--}
|ationship hstwuu:l these two state-
menis. ;

Mark answer [1) if statement (4)
% the cause and statement (B is its
eI Teed.

Mark answer (2] if statement (B
k= the cause and statement [4) s s
e=ffiEct.

Mark answer [3) if both the
sLatements (Al and [B) are independent
CHUSES. .

Mark answer (4] i both the
statemenis (A} and (Bl are effects of
independent causes.,

Mark amswear [5 Il bolh the
staternents (Al and (Bl are effects of
SOETLE CORTIEFICN. Rl iSe.

186. (A The government has decid-
: ed to talke siriet actlon
against the bullder responst-

bie for conmstruction of the

bridge for having used bow

gpuality material thereby risk-
ing several lives.

(3 The government has decid-
ed to build & vehicular bridge

- over ihe river connecting the
suburban area to the city in |
order to reduce the irallic |
Icad on the main road,

187, (Al Many people prefer to shop
il the Big retall chains than
the local grocery stoces,

(Bl Retall chadns offer a discount
af more than 25% a8 com-
parcd to the local grocery
shops.

188, |A) More than two billlon pounds
of chemicals are spewed in

Stepll | 73727 Spark 82 Uva w}
Beal Omni

Steplll + 73 37 B2 Spark Uwa 449
Beatk Ormnl

SteplV 1 73 7 B2 40 Spark Uwa
Beat ol .

StepV o TIET B2 40 Canni Spark |
Lhva Beat

Step¥VT @ T3 27 82 48 Omni L'rﬂ |
Spark Beat

Step VIl 73 27 82 48 Omnl Uva |
Beal Spark |
Stepn W is the last step of
the armrangrmend.

AR pir Lhe rules ollowed in the |
abdne steps, fiod oul In cach ol e |
[alowing questions the appropriale |

the alreveryday by industries | SLEP for the given inpul
and m]“g[m coun- | 188 Input ; Oat 19 Eat 83 66 Car 54
:qu ! Fur
v Hmmﬂm::md How many steps will be required
..mmﬁaemmwnﬂt?
pmhgthﬁtﬁpuwlmh CIITheee @) Four
cross the maximum emission (3 Five 14 Ske
lirmits, (5} Mone of these
Directions (168-190) : Study the | 190. Input : Boat 24 lnk 21 42 Wind
following Information carefully and Air 75
answer the given questions. Which of the following will ke
A word and nwmber step VIl of the aliove fngnat ?
machine when given an Input line of | (1) 78 21 42 Boat 34 Ink Wind
following a particular rule in each step. (2] 75 21 42 Boal 34 Ink Wingd
The following 13 an lustration of in- 131 T8 42 34 21 Alr. Boat [nk
pul and rearrangement, Wil
Input  : Spark B2 27 Uva 48 Beat (4] There will be na such step
Omni 73 as il gels armanged belors
step V11
Stepl Eﬂmmmﬂmu () ot o these
m}-mmmﬁm en below which one |
ﬂihfaﬂmrgmyimmﬂuﬂ;mm me ‘after the problem |
figures on the left, if the sequence wers conlinued 7
Problam Figures Answer Fligures
] Ul+ e _ P 1= | 8 —" | [ 7 oy oy .
Wil o WL i | et | e | o
SRR
plz ul o Ll e § dmanm | e
[1] 2 [}l g 5]
- el O R R O - T
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